

Calvert County Government
 2021-006
 RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

BIDDERS											
RS Hughes Inc.											
ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2	\$ 2.41	12	\$ 28.95	6	\$ 173.70	\$ 347.40
2	Manufacturer: West Chester	500Y	X-Large	pair	4	\$ 2.59	12	\$ 31.05	6	\$ 186.30	\$ 745.20
3		500Y	3 X-Large	pair	2	\$ 2.74	12	\$ 32.85	6	\$ 197.10	\$ 394.20
1-3 - SUBTOTAL:											\$ 1,486.80
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3	\$ 5.92	1	\$ 5.92	72	\$ 425.99	\$ 1,277.97
	Manufacturer: Global Glove										
4 - SUBTOTAL:											\$ 1,277.97
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12		0		0	\$ -	\$ -
6		GNPR-SM-1BL	Large	Pair	48		0		0	\$ -	\$ -
5-6 - SUBTOTAL:											\$ -
(Based on estimated quantities) TOTAL:											\$ 2,764.77

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov
 * has notes in bid

Calvert County Government
 2021-006
 RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

BIDDERS											
Wurth Wood Group											
ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2	\$ 7.45	1	\$ 7.45	48	\$ 357.60	\$ 715.20
2	Manufacturer: West Chester	500Y	X-Large	pair	4	\$ 9.27	1	\$ 9.27	48	\$ 444.96	\$ 1,779.84
3		500Y	3 X-Large	pair	2						\$ -
1-3 - SUBTOTAL:											\$ 2,495.04
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3	\$ 0.89	1	\$ 0.89	144	\$ 128.16	\$ 384.48
	Manufacturer: Global Glove										
4 - SUBTOTAL:											\$ 384.48
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12	\$ 0.23	50	\$ 11.63	10	\$ 116.30	\$ 1,395.60
6		GNPR-SM-1BL	Large	Pair	48	\$ 0.23	50	\$ 11.63	10	\$ 116.30	\$ 5,582.40
5-6 - SUBTOTAL:											\$ 6,978.00
(Based on estimated quantities) TOTAL:											\$ 9,857.52

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov

* has notes in bid

Calvert County Government
 2021-006
 RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

DID NOT COMPLETE OR SIGN FORMS

BIDDERS

Performance Safety Group Inc.

ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2						
2	Manufacturer: West Chester	500Y	X-Large	pair	4						
3		500Y	3 X-Large	pair	2						
1-3 - SUBTOTAL:											
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3						
	Manufacturer: Global Glove										
4 - SUBTOTAL:											
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12	\$ 0.40	50	\$ 19.99	10	\$ 199.90	\$ 2,398.80
6		GNPR-SM-1BL	Large	Pair	48	\$ 0.40	50	\$ 19.99	10	\$ 199.90	\$ 9,595.20
5-6 - SUBTOTAL:										\$	11,994.00
(Based on estimated quantities) TOTAL:										\$	11,994.00

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov

* has notes in bid

Calvert County Government
 2021-006
 RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

BIDDERS											
READAN INTERNATIONAL *											
ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2	\$ 3.14	1	\$ 3.14	72	\$ 225.81	\$ 451.62
2	Manufacturer: West Chester	500Y	X-Large	pair	4	\$ 3.37	1	\$ 3.37	72	\$ 242.91	\$ 971.64
3		500Y	3 X-Large	pair	2	\$ 3.56	1	\$ 3.56	72	\$ 256.23	\$ 512.46
1-3 - SUBTOTAL:						\$ 1,935.72					
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3	\$ 8.13	72	\$ 585.00	1	\$ 585.00	\$ 1,755.00
	Manufacturer: Global Glove										
4 - SUBTOTAL:						\$ 1,755.00					
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12	\$ 0.31	50	\$ 15.60	10	\$ 156.00	\$ 1,872.00
6		GNPR-SM-1BL	Large	Pair	48	\$ 0.31	50	\$ 15.60	10	\$ 156.00	\$ 7,488.00
5-6 - SUBTOTAL:						\$ 9,360.00					
(Based on estimated quantities) TOTAL:						\$ 13,050.72					

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov

* has notes in bid

Calvert County Government

2021-006

RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

DID NOT COMPLETE OR SIGN FORMS

BIDDERS

Moreya Biomedical LLC

ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2	\$ 3.10	12	\$ 37.20	10	\$ 372.00	\$ 744.00
2	Manufacturer: West Chester	500Y	X-Large	pair	4	\$ 3.10	12	\$ 37.20	10	\$ 372.00	\$ 1,488.00
3		500Y	3 X-Large	pair	2	\$ 3.10	12	\$ 37.20	10	\$ 372.00	\$ 744.00
1-3 - SUBTOTAL:						\$ 2,976.00					
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3	\$ 9.20	12	\$ 110.40	10	\$ 1,104.00	\$ 3,312.00
	Manufacturer: Global Glove										
4 - SUBTOTAL:						\$ 3,312.00					
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12	\$ 0.26	50	\$ 12.95	10	\$ 129.50	\$ 1,554.00
6		GNPR-SM-1BL	Large	Pair	48	\$ 0.26	50	\$ 12.95	10	\$ 129.50	\$ 6,216.00
5-6 - SUBTOTAL:						\$ 7,770.00					
(Based on estimated quantities) TOTAL:						\$ 14,058.00					

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov

* has notes in bid

Calvert County Government
 2021-006
 RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

BIDDERS											
Strother Nursing & Surgical Services L.L.C.											
ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2	\$ 2.58	1	\$ 2.58	72	\$ 185.71	\$ 371.42
2	Manufacturer: West Chester	500Y	X-Large	pair	4	\$ 2.96	1	\$ 2.96	72	\$ 212.85	\$ 851.40
3		500Y	3 X-Large	pair	2	\$ 3.14	1	\$ 3.14	72	\$ 226.01	\$ 452.02
1-3 - SUBTOTAL:						\$ 1,674.84					
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3	\$ 7.06	1	\$ 7.06	72	\$ 508.47	\$ 1,525.41
	Manufacturer: Global Glove										
4 - SUBTOTAL:						\$ 1,525.41					
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12	\$ 1.60	100	\$ 160.00	10	\$ 1,600.00	\$ 19,200.00
6		GNPR-SM-1BL	Large	Pair	48	\$ 1.60	100	\$ 160.00	10	\$ 1,600.00	\$ 76,800.00
5-6 - SUBTOTAL:						\$ 96,000.00					
(Based on estimated quantities) TOTAL:						\$ 99,200.25					

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov

* has notes in bid

Calvert County Government

2021-006

RFQ Safety Gloves

	no bid
	lowest price per unit cost
	Substitutes

BIDDERS											
GLOBAL GEEKS											
ITEM	DESCRIPTION	MODEL NO	SIZE	UNIT OF MEASURE	EST. NO. OF CASES	UNIT COST	NO. PAIRS PER PACK	PRICE PER PACK	NO. PACKS PER CASE	TOTAL PRICE PER CASE	TOTAL
1	Leather Palm Gloves	500Y	Large	pair	2						\$ -
2	Manufacturer: West Chester	500Y	X-Large	pair	4						\$ -
3		500Y	3 X-Large	pair	2						\$ -
1-3 - SUBTOTAL:											\$ -
4	Safety Gloves Color: Black/Yellow	CR-609-L	Large	pair	3						\$ -
	Manufacturer: Global Glove										\$ -
4 - SUBTOTAL:											\$ -
5	Nitrile Latex Free Gloves	GNPR-SM-1BL	Small	pair	12	\$ 0.40	50	\$ 20.00	10	\$ 199.99	\$ 2,399.88
6		GNPR-SM-1BL	Large	Pair	48	\$ 0.40	50	\$ 20.00	10	\$ 199.99	\$ 9,599.52
5-6 - SUBTOTAL:											\$ 11,999.40
(Based on estimated quantities) TOTAL:											\$ 11,999.40

Lisa G. Tolomei, Procurement Specialist
 Procurement Office
 lisa.tolomei@calvertcountymd.gov

* has notes in bid